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Following the Second World War, one major economic question

being debated was, What is the appropriate role for government in the

economy? John Maynard Keynes, a British economist, developed

theories that called for a large role for government in the economy.

Keynes argued that falling wages resulted in decreased spending. He

believed that active and direct government intervention in the marketplace was the only method  to increase total spending, ensure economic growth and stability and prevent—or lift the economy out of—recession. A recession is a period of reduced economic activity

[image: image4.wmf]lasting longer than two business quarters (six months). 
(Source: Perspectives on Globalization)
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Active government intervention in the marketplace and monetary policy is the best method of ensuring economic growth and stability.
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Governments should increase spending (invest in infrastructure, public works and small business) and decrease taxes when consumer spending is too low and threatens a recession = more investment, higher employment, and increased consumer spending.
[image: image7.emf]Governments reduce spending and increase taxes when consumer spending is too great and inflation is on the rise = less investment, less consumer spending and the potential for higher unemployment rates (lower employment).
Use the following two sources to formulate your own definition of inflation:
Inflation: _____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
[image: image8.png]“I'VE NEVER SEEN A TIDE RISE LIKE THAT BEFORE!”



                       Source I





SOURCE II
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Complete the following graph to illustrate the basic principles of Keynesian Economics.  Describe the cause and effect relationship for each:

Gov’t Response During a Recession:








Government Spending and Taxes

Gov’t Response During a period of Inflation



         

Government Spending and Taxes

In July 1944, the Bretton Woods Conference was held.  What was the
purpose of this conference? 

_____________________________________________________________

_____________________________________________________________ 

_____________________________________________________________

How does the above quote reflect Keynes’ perspective on unrestricted 

Capitalism? 

_____________________________________________________________ 

_____________________________________________________________

_____________________________________________________________

When a government makes decisions about economic policy, what motives

does it serve? When a business or corporation makes such a decision,

what motives does it serve?
______________________________________________________________
________________________________________________________

_______________________________________________________ 

Keynesian theory laid the foundations for a welfare-oriented form of 

Capitalism practiced by many Western countries. By the late 1960s, however, 
inflation and weak productivity caused many economists to question the wisdom 
of government intervention in the economy.

Friedrich Hayek was an Austrian-British economist and political philosopher known for his defense of classical liberalism and free-market capitalism against socialist and collectivist thought in the mid-20th century.  He believed that when governments try to plan or control societies, those societies are doomed to failure. He argued that human societies are simply too complex to be planned, and can never match the natural evolutionary wisdom that comes from a free society.  According to Hayek, a government should protect the market ensuring that its rules and laws do not interfere with competition between businesses.  He believed that competition and the market would keep the economy “booming” and that the government should stay out of the way.  Hayek’s theories were based on his analysis of totalitarian regimes such as the Soviet Union and Nazi Germany, where governments had enormous control over every aspect of society, including the economy. The Soviets and the Nazis claimed they were creating an ideal state for their people while stripping them of their basic rights and freedoms. His idea that the role of government must be limited in any society became generally accepted in the Western world. (Source: Perspectives on Globalization)
Since both Nazi Germany and the Soviet Union eventually

collapsed, does this suggest that Hayek’s views were accurate?

___________________________________________________

___________________________________________________ 



___________________________________________________

Hayek Argued that less government involvement in the 
economy meant greater economic freedom and prosperity. 
In what ways might government intervention limit economic 
freedom? 
_______________________________________________
_______________________________________________
_______________________________________________
In what circumstances is government intervention necessary?
​​​​______________________________________________ 

______________________________________________ 

______________________________________________ 

______________________________________________ 
Compare Hayek’s key ideas to the key ideas of Adam Smith.

What are the major similarities in their theories?

_____________________________________________

_____________________________________________ 

_____________________________________________ 

_____________________________________________ 

_____________________________________________ 

Trickle-down economics is an economic theory which states that investing money in companies and giving them tax breaks is the best way to stimulate the economy.
Trickle-down economics is best identified with the economic policies of the Ronald Reagan administration (1981 - 1989), known as Reaganomics or supply-side economics. It functioned on the belief that the American economy was struggling because of excessive taxation. With more money going to taxes, individuals and corporations were unable to invest capital to stimulate growth. The plan called for massive tax cuts (particularly for big business and individuals with high incomes) deregulating industries (privatizing them) and limiting the role of government, in order to stimulate investments. According to theory, this economic growth would then `trickle down` to the workers, stimulating the economy and providing greater prosperity for all. 
Supply-side economics was also implemented by other conservative political leaders including Canada’s Brian Mulroney and Britain’s Margaret Thatcher. Mr. Mulroney deregulated industries -dismantling the national energy program and the Foreign Investment Review Agency. He privatized companies such as deHavilland, Canadair and Air Canada, all while pursuing free trade. (Source: 2007 CTVglobemedia)
	Interest rates fell six points.
	The trade deficit quadrupled.

	Eight million new jobs were created as unemployment fell.
	the number of people (white, black, and Hispanic) below the poverty level increased in almost every year between 1981 (31.8 million) and 1992 (39.3 million).

	An eight percent growth in private wealth.
	the 1980s the personal savings rate fell from 8 percent to 6.5 percent

	Inflation averaged 12.5 percent when Reagan entered office, was reduced to 4.4 percent when he left.
	Fiscal debt almost tripled between 1981 and 1989 ($994 billion to $2,867 billion)



F
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Make a judgment about the effectiveness of Reaganomics using the four sources above:  
______________________________________________________________________________________________________________________________________________________________ _______________________________________________________________________________
Perspectives on Free Trade
Read “VOICES” on pg. 219-220 of your textbook, and complete the following chart. 
	Council of Canadians


	International Trade Canada



	Position on Freer Trade:


	Position on Freer Trade:

	Reasons:


	Reasons:


Free Trade Between Canada, the United States and Mexico

Read pg. 218 in your textbook and complete the following chart: What were their reasons for wanting to sign the Free Trade Agreement (FTA)?

	Canada
	United States
	Mexico



	
	
	


Considering multiple points of view:

Your point of view on freer trade is influenced by many factors, including age, gender, culture, and socio-economic status (an individual’s position within a community based on social and economic factors.)

1.  Think about how people of different backgrounds might view the issue of freer trade. Take on the role of one of these people, for example, a 50-year-old male factory worker. Write a one or two paragraph statement on your chosen character’s opinion of freer trade. Be sure to support your character’s arguments. 
	


Economic 


Growth





Economic 


Growth





________________________________________________________________________________________________________________________________________________________________________________________________________________________________________





________________________________________________________________________________________________________________________________________________________________________________________________________________________________________








The decadent international but individualistic capitalism in the hands of which we found ourselves after the [First World] War is not a success.


—John Maynard Keynes July 15, 1933.





John Maynard Keynes was a representative at the Bretton Woods conference, where


he argued for a system of fixed exchange rates.











 Alberta is currently enjoying a “booming” economy- investment is high, unemployment is low and the cost of real-estate is inflated!  The Alberta government has chosen to increase oil and gas revenues to provide funding to other sectors of our province. 





How does this policy coincide with Keynesian economics?  What are the discrepancies? 


__________________________________________________________________  __________________________________________________________________





HAYEK’S


KEY


IDEAS





Free market


People value things differently.  Gov’t  can’t chose value.





Dynamic competition


leads to cheaper


and better products


for people.











Importance of prices


The market regulates itself. Through supply and demand














Human action


not human design


Social order is a natural product of human action.





Many planners


We all decide what to buy – not central planners











PROS





CONS





"Yes, it created wealth for some companies and some individuals, but the legacy has been the creation of a permanent underclass, a greater gap between rich and poor, an assault on social security and an undermining of public health care that continues to this day."  Maude Barlow.  Speaking about Mulroney’s Conservative Revolution
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